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Q.1. Which type of battery does not emit gas or get overheated?

%H?Wﬁﬁﬁvwﬁﬁﬂﬁmmmwﬁ

A). |Lead acid battery

oIS TRIS ded

B). |SMF battery [Correct Answer]
SMF <&t

©). |Lithium ion battery
o™ s 92

D). | Aluminum ion battery

USRI M des)

Q.2. Towards which direction a free suspended magnet always points?

TP WA WU W ACHI goll Wi+ie. gHe e fem & iR o
ST 27

A). North-east

Sv—yd

B). |South-west

gleroT—uf¥es

C). |North-south [Correct Answer]
IR—gfeyor

D). |South-east

feror—gd

Q.3. Which electrical appliance has mercury vapor in the glass tube which
emits ultraviolet radiation when switched on?

fra VARG &) i B ol § AR qUR S
T, Wa@a’mﬁe%%mqgﬂwﬁhm ? ikl i3

A). |LED lamps
LED <fu

B). |CFL lamps [Correct Answer]
CFL <iu

C). |Halogen lamps




ISR

D). |Tungsten filament lamps

Q.4. Which type of thermistor is shown in the below image?

= oy v R 7 59 yeR @1 ufifeer farr 1 87

A). |Bead type
EISEER!
B). |Probe type
EICEERL]
C). |Radial leaded
NERERCISE]
D). |Axial leaded [Correct Answer]
NESRRECISS]

Q.5. Identify the device shown in the given image.

o # kg v feasy & usam?

A). |Relay
Ret
B). |Winding
EIEISA
C). |Solenoid [Correct Answer]
NIGRIES
D). |Rotor coil
RIeX Blgel

Q.6. Which procedure pulls a mass of air from the atmosphere into the
cylinder at a steady pressure?



A).

B).

Q).

D).

Q.7.

A).

B).

Q).

D).

mﬁgmqagmﬁwwwﬁm?ww

Intake stroke [Correct Answer]

TTh D
Compression stroke
PRI ED
Expansion stroke
TR LT

None of these

ERERCIRE ]

Which of the flywheel's functions helps the engine and transmission
engage and disengage power smoothly, enabling gear changes and
vehicle operation?

R L T TR ol e
e AT AT 27

Power regulation
EICRISIGEIN -
Enhancing crankshaft rotation
GBI sheheue RICT

Smooth power delivery
W UfeR fSeiia™y
Clutch functionality [Correct Answer]

FoTd AT

Q.8. Which type of reciprocating engine is shown in the below image?

A).

Qjﬁqwﬁaﬁﬁmwmwmﬁ@mw

Radial engine



STt gor T

B). |In-Line engine [Correct Answer]
ST ST

C). |Horizontally opposed engine

BRIl JaISs 3ol

D). |V engines
V soH

Q.9. What is the name of the component H of hydraulic jack shown in the
given image?

?Ww%ﬁmﬁm%%ﬁﬁeﬂmww
?

A). |Bearing pad
R i
B). |Hydraulic ram
B SIferd ¥
C). [Filler plug
e @i
D). |piston assembly [Correct Answer]
e et

Q.10. Which type of combustion chambers are crucial in rocket propulsion
systems, where fuel and oxidizer are burned to produce thrust?
D JuRM Riveq H 59 ToR @ $eF AW Ag@yol a1
%,G%?wgaﬁ?araﬂﬂmaﬁwﬁmmﬁa%mm
Il &t

A). |Piston engine combustion chamber
e 3919 HHY dFR

B). |Gas turbine combustion chamber
NG eaIeT B AN

C).  |Rocket engine combustion chamber [Correct Answer]
Rfhe o HHIE TR

D). |None of these

3T A D5 e




Q.11. Which gasket is suitable for a wide range of pressure and temperature
classes?

aﬁﬁwﬁmﬂwaﬁ?waﬂmaﬁwﬁﬁﬁma%
fore Sugw &?

A). |Camprofile gasket
HEHISA b

B). |Ring joint gasket

R Sarge e

C). |Composite gasket
FHHIRTE IRDe

D). |Spiral wound gasket [Correct Answer]
Afifd ars—s Reabe

Q.12. What is the name of the tool shown in the below image?

e fe@m v R # g &1 AW @@ 8?2

A). |Dial bore gauge
S IR IS
B). Hydraulic ram  [Correct Answer]
EENISERS]
C). |Feeler gauge
BIeR IS
D). |Tire pressure gauge
SRR W¥R I

Q.13. Which thread sealant does not crack or shrink and creates a tight air and
water-proof seal?

aﬁaw%%mgﬁwﬁ%sﬁvwaﬁw
3R dIeR Y% ¥l 99T 27

A). | PTFE sealing tape
PTFE ¥ifeiT <u

B). |Thread sealing compound

S AR Far

C). | Anaerobic thread sealant [Correct Answer]
TIRIN® o Hieie




D). |Thread sealing string
g AifeiT Rg

Q.14. Which of the following formulas can be used to find the die for shaft
diameter of a rod?

s @ aﬂera% frferRaa

A). 'D=d-px0.1 [Correct Answer]
B). D=d+px0.1
C). D=dxpx0.1

D). |None of these

379 A BIE T

Q.15. Which type of resistors oppose Ohm'’s law wherein the electric current
flowing through them changes with the exchange in applied voltage or
temperature"

A e U R e e
W—m P 1 951 Sl 87

A). |Linear resistors
AR YRR

B). |Non-linear resistors [Correct Answer]
A AIf R RRER

C).  |Fixed resistors
e IR

D). |Variable resistors

IRUTe YRR

Q.16. Identify the type of screw extractor shown in the below image.

A i@ g o 7 ©h aEgde] & TBR P UgaH |

A). |Straight flute extractor
FT Fole Udagdey

B). | Drill bit extractor



f$eT fde gaigaex

C). |Dual edged extractor [Correct Answer]
S UoS YaIgdeY

D). |Spiral flute extractor

el Tl YeRIgaRy

Q.17. Which dies are typically used in the jewellery industry for creating
intricate designs and patterns on metal surfaces'?

A). |Pipe die
EIEEESH
B). |Acron die [Correct Answer]
TshIA STS
C). |Split die
Recre s1$
D). |Adjustable die
NS CRSH

Q.18. Which lubricants seep into tiny cracks present in the metal surface and
break up rust?

wgg@% ﬁqﬁvﬁa‘r&r—@amﬁgﬂ

A). |Dry Lubricants

SIRES|ECTS

B). |Lubricating Through Oil
T ERT dAfside

C). |Penetrating Lubricants" [Correct Answer]

LRSS EESS

D). |None of these

379 A BIE Tl

Q.19. Which part of the carburetor has an opening and closing tap that is
linked to the accelerator of the motorcycle?

@ frd o ¥ ue_ Ml 3R FNRFT 20 gar @ =
a%qa@?mgaf@rws‘m%?

A). | Venturi
EEA

B). | Throttle Valve [Correct Answer]
gfcd dred

C). |Float Chamber




TFele IwR

D). |Idling Nozzles
ST AreTel

Q.20. Which type of fuel is used in the electric motors that derive their power
from the ship’s generator power?

Wﬁm‘rﬁrﬁ?ﬂ ® T ST
WW'@TWWW gﬂnw%

A). |Diesel-electric propulsion [Correct Answer]

IISTd—sclfded TUeRH

B). | Low sulphur marine fuel oil
CIREANE R ERSIR

C).  |Heavy fuel oil
T4l WA A

D). |None of these

39 A BIE Tl

Q.21. Which component of an emission control system is inserted into the
exhaust system to get rid of the pollutants in vehicles?

Rred
T e TR i

A). | Airinjections

TIR gorer

B). |PCV valve
PCV drew

C). |Evaporative control system
TaAR{Cd dold RIeeH

D). |Catalytic converter ‘[Correct Answer]
defotfed daacy

Q.22. Which among the following is a biological hazard?

fr=folRed & 9 o9 91 U8 TGiSTod gole 87

A). |Fever sickness

DR Rd-

B). |Smoking
BT

C). |Infection [Correct Answer]
STHRA

D). |None of these

39 A BIE Tl




Q.23. Identify the part of the crankshaft marked as x.

A).

B).

Q).

D).

DHINMTEC & x B ©Y § Hdb YIS DI IS |

Vibration damper mounting [Correct Answer]
qTgNeE SHR A3

Crankpin journals

b ST-el

Flywheel mounting flange
Follsalel AISICT Toiol

Counterweight

PrScRIC

Q.24. Which class of fire involves flammable gases?

A).

B).

Q).

D).

BRR P f5d 79 § Forved A9 I B &7

Class A
FA A

Class B
F B

Class C [Correct Answer]
T C

Class D
g D

Q.25. Which instrument is used to measure the diameter of camshaft journals?

A).

B).

Q).

D).

meﬁ?m zﬁaﬁaaﬁwﬁa?mﬁms@am

Three-point internal micrometer
ofY dige Sexdd HIghIHex

Depth micrometer

ST HTSHIHIC

Inside micrometer

TS S HIShIHIC

Outside micrometer [Correct Answer]
IS S HISHIHICY




Q.26. Which are the most widely used reamer and commonly used in lathes to
enlarge smooth holes?

A S
A). |Morse taper reamers
A TR AR
B). Chucking reamers [Correct Answer]
FfhT IR
C). |Automotive reamers
siferdifed IR
D). |Taper pin reamers

TR T IR

Q.27. Which resistor is used in electrical and electronic circuits to reduce the
amount of electric current within the circuit?

saﬁawsﬁ?s%lﬁﬁ” Tfpe & e & Hiax '

A). |Linear resistors
AR R

B). |Fixed resistors
fhavs YRR

C). |Ballast resistors [Correct Answer]
Re YRReR

D). |Non-linear resistors

AF—elf R IR

Q.28. Which device has the ability to store electrical charge?

fra fEarsd § gafacdd arSl B TR HIA B &HAT Bl 87

A). |Resistor
RRRER ~\
B). |Insulator

Sele

C). | Conductor
hHSdey
D). |Ca pacitor [Correct Answer]

HURTEN

Q.29. Which of the following is the quenching media of normalizing?

for=ferad & & @i w1 s 1 FaftT @ifear 87



A). |Air
TR
B). |Water Spray
qrex |
C). |oil [Correct Answer]
SR
D). |Brine
EIEN]

Q.30. Which type of air cleaner has a fire mesh screen placed over a
specifically pleated part for strength?

P TR H ASTE D fa9y vy | wics

A). | Oil Wetted Type
IS IS <I8Y

B). Dry Type [Correct Answer]
SIERSEL

C)-  |Paper Pleated Type
TR wiics Ti-y

D). |Centrifugal Type
iR UG R

Q.31. Identify the tool shown below.

i fEY Y e @l ugE |

A). |Inner-tube exhaust
TRz T

B). |Single exit pipe
RfTer Tfisie urgy

C). |Dual rear exit

S RIR Tiere

D). |Dual side exhaust [Correct Answer]
SERRSIESRSSIG

Q.32. Which function of the manifold helps the engine to operate more
efficiently and optimizes power output?



A).

B).

Q).

D).

aﬁ%ww SO, B D HIeEr A ATaRe
PR H HEG BT &7

Collecting exhaust gases
hloclfded] ToRe 19

Balancing intake and exhaust valve timing

JIRIAT $¢d IR TGRS dled TIgiAT

Channeling exhaust gases

Il Treive I

Equalizing cylinder pressures [Correct Answer]
ShAlTsoT Riciey IR

Q.33. Which among the following laws is applied in the hydraulic brake

A).

B).

Q).

D).

Q.34.

A).

B).

Q).

system?

Wﬁﬁaﬁﬂwﬁmm@mwwﬁfwm

Charles's law

qrerd ot

Boyle's law
§1ge off

Pascal's law [Correct Answer]
IRl ol

Newton's law
=qed ol

Identify the part of the clutch marked as x.

X @ Y ¥ fIfeq &d @ 9 @ ygar |

Flywheel

Pressure plate

IR Wi

Releasing spring




RfafSiT Rz
D). [Clutch disc [Correct Answer]
EEERSSD

Q.35. Which step of the overhauling process uses the latest inspection
instruments to check spare connecting rods of the diesel engine?

aﬂmﬂm;ﬁ'ﬂa} i%crﬁr goiq &I 3R,

A). |Inspection of diesel engine [Correct Answer]
SIS 9T BT Aeqor

B). |Removal and disassembly of the engine
§o BT RYael 3R (SIae B_Al

C). | Calibration and overhaul of engine spare parts
SOl IR UICH &1 DicTded 3R 3MaxaTd
D). |None of these

T A DS T

Q.36. In which type of valve rotation, the thimble end of the rocker arms is
fitted at the edge of the valve stem?
w $ dled ey H JdR A BT rd Us a1ed &
fe frar Siran %

A). |Free valve rotation
™l dTed eI

B). |Positive valve rotation
uifsifed ared JeeE

C). |Roto cap valve rotation
Rl $Y dred JeTE

D). |Offset valve rotation. [Correct Answer]

3N Ae dqred AT

Q.37. Which part of a piston prevents gas from leaking in the combustion
process?

ﬁﬂ%ﬂgaﬁﬂwmwmﬁﬁvﬁwmé

A). | Piston crown
e prs+

B). |Piston pin
e U

C). |Piston rings [Correct Answer]

freeq R



D). |Ppiston bearings
e i

Q.38. Which type of drilling machine is shown in the given image?

& T Bt # fa R @t el 7ehF R T8 27

A). | Pportable drilling machine

uréqga fefeiT wei=

B). |Bench drilling machine [Correct Answer]
g fefelr 7ei=

C).  |Pillar drilling machine
fUerR fefelr weig

D). |None of these

39 A IS Tl

Q.39. Which of the following is the difference between the groove depth and
ring width?

ffafaa # 9.7a S iR A1 Iy & 99 o9 w1 &icR &7

A). | Butt clearance
T FARRE
B). |CPR groove measurement
CPR 7@ #oiRHe
C). |Axial clearance
NENPEIETINS]
D). |Radial clearance [Correct Answer]
NEPRIGSIRES]

Q.40. Identify the instrument shown in the image.

Bfa # @Y T SUHRUT B TSI |



A).  |Housing for thermostat
BRI BR HRCS

B). |Springs close valve
R Feirst ared
C). |Valve retainer [Correct Answer]

qreg ReR
D). |None of these

39 A BIE Tl

Q.41. In which type of engine design, the crankshaft and connecting rods
operate in an enclosed space?

Can ikl ?mmﬁﬁsmaﬁ?a#ﬁw
9¢ S8 W =R

A). | Dry crankcase [Correct Answer]
SEREEER

B). |Wet crankcase

qe hhdhd

C). |Semi-wet crankcase

I — dT Dhdd

D). |Closed crankcase

FeAloS hhdd

Q.42. Which sprockets have hubs of equal thickness on both sides of the plate?

g Biide § wic & A IR A dICE S &9 Bl o7

A). |Type A
ersu A
B). |TypeB
crsy B
C). |Type C [Correct Answer]
ersu C
D). |TypeD
erzu D




Q.43. Which property of lubricant has high temperature beyond which the
lubricant vaporizes and gets burnt?

A). |Viscosity
faepIRIcT
B). |Pour Point
UR @rge
C). |Chemical Stability
Bfted faferd
D). Flashpoint [Correct Answer]
EERRCIFS

Q.44. Identify the name of the tool given below

T Ry T T &1 T ugE |

A). |Engine valve
ol dled
B). |Valve train [Correct Answer]
ared g
C). |Valve seat
qred i
D). |Valve stem
qred wH

Q.45. Which type of pump sits right inside the sump pit and functions while
underwater?

P9 UPR &1 4y, 99 fic & AP X dar 8 R Ul &
HaR BRI BRaT =7

A). |Battery operated backup

I 3RS IH3T

B). |Pedestal pumps
UsRed Uy

C). |Submersible pumps [Correct Answer]
NERINERIL]

D). | Combination sump pump




‘W"r&aﬁwwqﬁ

Q.46. In which type of lubrication system, scoop splashes the oil by centrifugal
force to all engine parts when the engine runs?

%Wzﬁ%@?ﬁaﬁﬁmﬁ SO del UY U ASIRTe
ERT §99 & |91 91T R Sifsel fosHbar 87

A).  |Petroil Lubrication System

UeId Al R

B). Splash Lubrication System [Correct Answer]

A Afdbe Rived

C).  |Pressure Lubrication System
SR i RReH

D). |Dry Sump Lubrication System
$18 W fade Rien

Q.47. Which type of oil filter is shown below?

frd UBR BT 3ifser ey fe@mm 1T 387

A). |Spinner oil filter

RUeR 3ifgal fhoex

B). |Full-flow oil filter

%ol Tl 3ifgal fhoex

C). |Spin-on oil filter

Ru—3iT sifgal fhoey

D). |Cartridge oil filter. [Correct Answer]
PIicSt 3ig ftheex

Q.48. Which type of pump aligns with the engine cylinders in their number of
fuel pressure mechanisms?
%\qwmﬁqguﬂﬂwﬁa%ﬁwa%ﬁwﬁsﬁﬁﬁﬁaa%
T Siofleg B 27

A). |Inline injection pumps [Correct Answer]
SRRIEREESESERCE

B). |Continuous pump

HeI~gd uq




C)-  |High-pressure common rail pump

BT UTR BT X UY

D). |None of these

319 A IS Tl

Q.49. What is the use of the tool shown below?

A @ Y T $T T SYART 77

A).  |Transmits torque

ih SIRIAC BT &

B). Adjusts slackness [Correct Answer]
AHTT DI TSORE BT

C)-  |Controls the opening and closing of valves

qredl & G AR 45 BF &I 9 a=ar ®

D). |Stores mechanical energy
O\ C - o
i3 GHoll BT AUfRd dear &

Q.50. Which among the following hydrocarbons possess one or multiple
carbon rings?

Wﬁﬁﬁmm@mﬁﬁwmw%mﬁm

A). |saturated Hydrocarbons
HTRCS BISSIBIE

B). |Unsaturated Hydrocarbons
THIRCS BTSSPl

C). | Aromatic Hydrocarbons
WRIACH BSSIBTE

D). Cycloalkanes [Correct Answer]

IR sl

Q.51. What is the purpose of the given tool?

faT Y T BT SeE v *?

A). |Cutting metal
gTq hreT




B). |Welding metal
fesT o1q

C). |Measuring metal
grd HIYAT

D). Marking metal [Correct Answer]
g1 DT 3hT

Q.52. Name the type of chisel that is commonly used for cutting across the
grain of wood

Tl DT TR g e e

A). | Cross-cut chisel [Correct Answer]
PRI—HS B!
B). |Flat chisel
ST BT
C). | Point chisel
Tdlell B
D). |Round nose chisel
el ATH daTell BHl

Q.53. Name the tool that is suitable for fastening or removing screws with a
cross-shaped slot.

G‘Héﬁ@q Gﬁ?ﬁl‘g—lwm?rWEBWW

A). |Allen key
Qe fofl
B). |C-clamps
A—Felg
C).  |Bench vice
ERICIES
D). Phillips screwdriver [Correct Answer]
fforsa taea




Q.54. What type of spanner has both a ring-shaped end and an open end for
versatile use?
EIE. SURT & : ;l?gr\' @ VR H IS B AMHR BT
T 3R ger f=r B 87

A). |Ring spanner

for @R

B). |Combination spanner [Correct Answer]
T |=R

C). |Open end spanner
AT Us WK

D). |Universal adjustable open-end spanner
IR TSoRedd 30 Us TR

Q.55. What is the least count of a micrometer used for measuring outside
diameter?

I AT B A9 & Y STANT {6y SF - arel ArgshiieR &
gATH T /T ’?

A). 0.1 mm

0.1 foe L
B). |1mm

1 o N
C). |0.001 mm

0.001 T yaN
D). |0.01 mm [Correct Answer]

0.01 A

Q.56. What is the name of the tool that is used for cutting sheet metal and
other thin materials?

B‘\“[WUT w&'\’% w%sﬂeaﬁsﬁ?m

A). [Tin snips [Correct Answer]

feq =

B). | Nippers
foooed



Q).

D).

Circlip pliers
RIEE SR

Combination pliers

PITIIRM R

Q.57. Which tool is suitable for measuring small gaps or clearances between

A).

B).

Q).

D).

engine components?
SO UChl ® 9 BT aRT T TN Bl 499 & g I
T SUPRYT YLD &7

Thread pitch gauge
gs U= 9

Dial indicator

SR IRSCASEY

Feeler gauge [Correct Answer]

PR ol

Straight edge
T U

Q.58. Which metal joint method involves joining two pieces using a

A).

B).

Q).

D).

mechanical fastener?

g«@a@%@mﬁmwmwwaw

Riveting [Correct Answer]

Rafdw

Soldering
RIGSIN

Adhesive bonding
N

Welding
afesT

Q.59. Which of the following locking devices is commonly used to secure a

A).

B).

0.

crankshaft pulley in a diesel engine?

Cotter pin
Plex U

Locknut
KICEK[

Lock washer
-




D). |Key [Correct Answer]
ELEl

Q.60. What tool is used to create threads in metal workpieces?

g @ IO § Ig9 99 & foIg fe SUBRT BT SUIRT
farar mar 872

A). |Hammer
RIS
B). |Hand Tap [Correct Answer]
g1 TU HRAT
C). |Pliers
forrer
D). |Screwdriver
LEEasI

Q.61. What is the main purpose of lapping in metalworking?

gIgHH § AT BT g Seed @ 77

A). |To improve surface finish [Correct Answer]
HTE B e BT deaR a9 B forw

B). |To create threads
I8 I B fory

C).  |To remove burrs
TSTSEE R R & forg
D). |To drill holes

B IR B forw

Q.62. Name the type of gear pump that has gears meshing internally with each
other.

fRR 49 & UeR o fiRR P
L T RS R

A).  Double acting gear pump
S Ufde iR dg




B).

Q).

D).

Single acting gear pump

Uhd fdeT fRR 4y

External gear pump

I8 R g

Internal gear pump [Correct Answer]

RS AR g

Q.63. What is the primary function of the given tool in vehicle maintenance?

A).

B).

Q).

D).

e YERE ¥ Ry U SUHRT &1 uefie wr R 87

Lifting vehicles [Correct Answer]
CIERRSEIR

Testing suspension
RIETT feie

Checking fluid levels
9 WR Pl S HIAT

Changing filters
fhoex ager T

Q.64. Which component of a diesel engine is responsible for scavenging the

A).

B).

Q).

D).

exhaust gases?

%@mﬁﬂwwmﬁﬁﬁwmikm

Exhaust manifold

CEIRGIRREDR]

EGR valve
EGR drem

Camshaft
DI

Turbocharger [Correct Answer]

SIEISK

Q.65. Which part of the engine is responsible for igniting the air-fuel mixture?

A).

mg—gﬂ#%?waﬁuﬁmmﬁa%mmmaﬁﬂwm

Exhaust manifold




CEIRGIRREDR]

B). | Fuel injector

ECRRESE A

C). |Spark plug [Correct Answer]
WD T

D). |Carburetor

PRI

Q.66. What does the given instrument measure?

e T SUDRYT AT HYGT 87

A). |Vehicle speed [Correct Answer]
qred D I

B). |Engine temperature
SS9 T AT

C). |Tire pressure
TR &1 <4

D). |Fuel level
EERIESE

Q.67. Which type of combustion chamber is commonly used in modern diesel
engines for better fuel efficiency?

éwiaﬁamibmwﬁm@magﬁﬁamﬁ?wﬁm

UPR b & BE-BI SUANT (AT STl
A). |Hemispherical

RIS
B). |Pentroof

sl

C). | Direct injection [Correct Answer]
ggeT i &qor

D). | Indirect injection

IITET oI

Q.68. What can happen if a head gasket fails in a diesel engine?

Ife SoTet 3o H B Abe fA%el 81 ST O 4T B Fohell 27




A).

B).

Q).

D).

Reduced exhaust emissions

era ScaoiE # B

Increased fuel efficiency

S gefar | afg

Improved engine performance
J8dx Soi UegH

Oil contamination [Correct Answer]

SEAREAL

Q.69. What is the importance of valve seats in engine operation?

A).

B).

Q).

D).

ol HaTerd ¥ dled WISl &I 1 98 27

Sealing combustion chamber [Correct Answer]
TE BT BT ATl BRAT

Reducing friction
Y] HH PHRAT

Providing cushioning
€] Y&TH BRAm

None of these

39 A BIE Tl

Q.70. In a DOHC engine, how many camshafts are typically found per cylinder

A).
B).
Q).
D).

Q.71.

A).

B).

Q).

head?
groﬁngsﬁﬂﬁ,amaﬁ?wuﬁﬁlﬁ@?%@ﬁﬁﬁaﬁww
?

1

2 [Correct Answer]

3

4

What material is commonly used for manufacturing piston rings in diesel
engines?

ﬁmﬁﬂ% P AR R fhg
R T et R 5 w

Copper
SIEL

Aluminum

I

Titanium

CESREL]




D). |Castlron [Correct Answer]

CaIRSIE)

Q.72. What is a common trouble associated with piston rings in diesel
engines?

Sioter ot # e R ¥ ) o ww e Far 87

A). |Reduced compression [Correct Answer]
ERREISE!
B). |Excessive cooling
AAAD SSh
C)-  |Oil leakage
o R
D). |Spark plug malfunction
TP T &I ERIE!

Q.73. Which part of the engine does the camshaft regulate?

PIMYE o9 B P9 9RT B AT Hear 27

A).  |Fuel injectors

el goldey

B). |Intake and exhaust valves [Correct Answer]
A IR T dreg

C). | Timing belt
I I

D). |Piston rings
fiRe & ool

Q.74. Why is a chain tensioner used in a diesel engine?

STl 399 H AT IR BT SYART T fhar Srar 272

A).  To regulate oil pressure. [Correct Answer]
dd @ G919 Bl MART &= @ forg

B). To control engine temperature.
9 & d9EE B FRIFT w1 @ forg

C)-  |To adjust fuel injection timing.
S Bl FHRIT B3 & forw

D).  |To maintain proper tension in timing chains.
THI SRgerell § Sfad T gH11T R

Q.75. Which type of cylinder sleeve is more susceptible to corrosion due to its
direct contact with coolant?



A).

B).

Q).

D).

Wet sleeve [Correct Answer]

RIIREINSI]

Nikasil sleeve
o\ [N [aN
BEAISERSIESIE)

Flanged sleeve

RESIESIRERINESESIE]

Dry sleeve

B CIRSIESIG]

Q.76. Which method is commonly used for heat transfer in cooling systems?

A).

B).

Q).

D).

%ﬁamwnﬁﬁ%#mwa%mm?wﬁmﬁ%

Compression

Convection [Correct Answer]

HAFIH

Radiation
fafevor

Conduction
LEIREGS]

Q.77. Which component of a cooling system helps regulate the flow of coolant

A).

B).

Q).

D).

based on engine temperature?

SRR ST dT9HE ®
§m P mmaﬁ gﬂ%ﬂa%sng T %%TW w

Radiator
IfeAex

Fan clutch

B FoTd

Thermostat [Correct Answer]

DEIrere

Water pump
Ul BT o

Q.78. What does the SAE grading number represent in engine oil?

A).

o9 AT H THYS ST FaR T g9iar 87

Viscosity [Correct Answer]
YTAAT




B). |Qil color
qd BT T

Q). |oil purity
qd B Igar

D). Temperature resistance
TATIAE R

Q.79. What is the primary function of the pressure relief valve in a diesel
engine's lubrication system?

?gﬁwsﬁ;aﬁgﬁwwﬁfﬂwﬁaﬂmwmwﬁiﬁ

A).  [Filtering the oil
qel BT

B). |Cooling the engine
SO B BT HAT

C)-  |Increasing fuel pressure
ECRICaRCGIE I Gkl

D). |Regulating oil pressure [Correct Answer]

T @ MG BT el Bl

Q.80. Which component collects oil that drains from various engine parts in a
diesel engine?
SIoTel_ 3o H DI 97 " a1 §99 9rN 9 Mdes ara
qel BT YHa BT 27

A). |Sump [Correct Answer]
N
B). | Oil tank
dd <h
C). | Pickup tube
st =@
D). il filter
Aol fhoey

Q.81. Which component of the intake system is responsible for evenly
distributing air to the engine cylinders?

?‘5 av_\gr sgﬂﬁa@ﬁﬁwﬁwm

A). | Air cleaner
TR FAR

B). |Turbocharger
TEToR




C). |Intake manifold [Correct Answer]

gCd Hhles

D). | None of these

379§ BIE Tl

Q.82. What type of air cleaner uses a mesh screen for filtration?

P9 YR BT TR Feil-R Aed & 1T A9 P9 &1 STIRT
T 27

A). |Mesh screen [Correct Answer]

He BHIA

B). |Foam element

B T

C)-  |Dry type
Ih TR

D). |None of these

39 A BIE Tl

Q.83. Which component of the exhaust system is responsible for reducing
noise pollution?

Mﬁmmﬁa‘?mmmmaﬁﬂww

A). |Extractors
NERIGSAS]

B). | Flexible connections
GEISERENE]

C).  |Ceramic coatings
Rrfae wifér

D). |Mufflers [Correct Answer]
Hbh R

Q.84. Which system relies on the natural force of gravity to deliver fuel to the
engine?

A).  Forced feed system
BiS Bis Ren

B). |Gravity feed system [Correct Answer]
THATHYIT B Ul

C)-  |Mechanical Fuel Pump
i3 go+ Uy

D).




None of these

39 A IS Tl

Q.85. Which component is responsible for preheating the combustion

A).

B).

Q).

D).

chamber in a diesel engine?

é@gﬁ'sﬁ?{ﬁ?ﬁ%ﬂ%ﬁ?ﬁ%ﬁﬁﬁmiﬁmﬁﬂwi

Glow plugs [Correct Answer]
Tl

Plunger pump
ok qq

Diesel injectors

SIS goldex

None of these

39 A BIE Tl

Q.86. Which type of diesel injection system utilizes.a common rail for fuel

A).

B).

Q).

D).

ellvery'?

Electronic Diesel Control
SIS D SIoTel Bl

HEUI diesel injection system

HEUI Sivia soae= RRed

Turbocharging system
A N N
=TT ReH

CRDI system [Correct Answer]
CRDI R

Q.87. In which type of engine are the pistons arranged in a straight line?

A).

B).

Q).

D).

f5d yoHR & o ¥ fies o Wil a1 § yafked g8 87

Opposed piston engines
arss fiRes goT+

V-type engines
J—IBR B ol

Inline engines [Correct Answer]
5 5 5‘

Boxer engines
9 .




Q.88. Which cooling system relies on airflow to dissipate heat from the
engine?

PI_G) BfeiT Red, 99 | T P D
el Ty By, ST 1 T W 2 o 1y e

A). |Air cooling system  [Correct Answer]
EIREISERRELISI

B). | Liquid cooling system
TR e JoTTe!

C). | Hybrid cooling system
HREERISERRAISI

D). | Passive cooling system
Ay fde gomeft

Q.89. What is the main function of a non-return valve in a hydraulic system?

gsxife Red # A9 Red area &1 7= s @ 77

A). | Adjust system pressure
RIRCH T TSORE. Al

B). |Prevent backflow [Correct Answer]

JPFAT BT

C). | Regulate flow rate
Yare &% Bl R B

D). |None of these

39 A BIE Tl

Q.90. What is the purpose of the decompression lever in a diesel engine?

SIoTel 3o ¥ SIPUGT oA} DT ST 4T 27

A). |To increase compression during starting.
ST & SRF HRT e & folg

B). |To regulate fuel.intake.

S Yo @ AfFRmg o) @ fou

C). | To control exhaust emissions.

e Seaoie & RT axa & forv

D). |To relieve compression during starting.  [Correct Answer]

I[BIMA & SR HUred | Ed UM & foy

Q.91. Why is turbulence important in diesel engine combustion chambers?

SIoTel §O191 T8 P&l ¥ NGl 41 A5cdqul &7

A). |Reduces fuel efficiency
SUF SETAT P PR QB




B).

Q).

D).

Enhances mixing of fuel and air [Correct Answer]

Se 3R 9 & AT B ggran ®

Increases engine noise
S99 &I AR FIaT ®

None of these

379 A BIE T

Q.92. Which mechanism controls the opening and closing of engine valves?

A).

B).

0.

D).

DI T ADIToA SO dlcdl & Ge Sk 95 8F 3T fa
BT o7

Camshaft [Correct Answer]

DHITIC

Spark plug
T T

Piston

e

Crankshaft
hpMIC

Q.93. What is the purpose of cam lobes in an engine?

A).

B).

Q).

D).

fedl 399 & DY g DT 9T AT 27

To adjust tire pressure
RN & Td1d Pl FHARIIT B & oY

To monitor exhaust emissions

TR U9 &) AR & fore

To regulate fuel injection
RISl SOTaRTT DI elc B B [olg

To control valve opening and closing [Correct Answer]

e B Gor AR 8.8 B T v & oy

Q.94. What is the primary function of the connecting rod in a diesel engine?

A).

B).

Q).

D).

SIS S99 | BTG IS BT Uriffe SR w1 287

Cooling the engine
ST BT ST HRAT

Storing fuel
YT BT WSRUT

Transferring motion from the piston to the crankshaft [Correct Answer]
e | $HHINMIS TP AL TRTHY. HRA

None of these

39 A BIE Tl




Q.95. What is the common cause of application bearing failure in diesel
engines?

%Tm%?svﬁﬁmﬁuﬁwaﬁﬁmmmw

A). |Lack of lubrication [Correct Answer]
Jade B HH

B). | Over-tightening of bolts
diccd BT 3ffeh Bl

C). | Excessive cooling
TS SSH
D). | Fuel contamination

T B

Q.96. What is the function of a variable turbocharger mechanism in a diesel
engine?

STl S99 § IRTeel <a=oR a3 &1 =T $ 87

A). |To regulate the engine's speed.
39 @l T @1 REEE v @ forg
B). | To adjust the engine's compression ratio.
C). |To control the engine's exhaust emissions.
g9 & UaeRe U &1 e e & forg
D). |To vary the airflow to the engine. [Correct Answer]

SO H QIR—Tl DI T3 IR & foly

Q.97. Which component of a diesel engine is responsible for converting
reciprocating motion into rotary motion?

A). |Piston
iR
B). |Crankshaft [Correct Answer]
DHDHIMIT
C). |Camshaft
EREURE
D). |Spark plug
TH T

Q.98. What is the purpose of the high-pressure oil pump in an HEUI system?

HEUI Y9TTell ¥ S%8 419 dll ol YT DT S T 27



A). | Pressurizing the fuel [Correct Answer]
SU UR TG STl

B). |Cooling the engine
SO I ST BT

C). | Lubricating engine components
goi Uchi Bl fIeg <A

D). |None of these

T A DS T

Q.99. Which component of the vehicle exhaust system is responsible for
reducing hydrocarbon emissions?

A). |EGR valve
EGR dre=

B). | Oxygen sensor

C). | Turbocharger
TSR

D). | Catalytic converter [Correct Answer]

Befafed PHacx

Q.100. Which pollutant is a product of incomplete combustion of
hydrocarbons in diesel engines?

@w?ﬁﬁ@mﬁqa%mﬁﬁmwaﬁﬁw
uquP &7

A).  |Water vapor
dfex quR

B). Carbon monoxide - [Correct Answer]
Cblﬁi"i BIRISIESSIES

C).  |Sulphur content
NEERSRSILEI

D).  |Nitrogen oxides
SIEHNRRSIENINS

Q.101. Which aspect of communication involves speaking clearly and
effectively?

A). | Body language




B).  |Active listening

0). Written communication

D). Verbal communication [Correct Answer]

Q.102. Plural form of the word "child" is .

A). Childs

B).  |Childrens

0). Children [Correct Answer]

D). Childer

Q.103. Identify the correctly spelled word.

A).  |Occassion

B). Occasion [Correct Answer]

). Ocasioon

D). Ocassion

Q.104. The antonym of the word ‘transparent’ is

A).  |visible

B).  |translucent

C). clear

D). opaque [Correct Answer]

Q.105. Directions: Fill in the blank.

It's important to to new regulations quickly.
A). adapte
B). adabt
0. adatp
D). adapt [Correct Answer]




Q.106. Directions: Fill in the blank.

To achieve accuracy, one must be

A).  |precice

B). |precize

0). precise [Correct Answer]
D).  |preecize

Q.107. To ‘accelerate’ means to speed up. Its antonym is

A). decelerate [Correct Answer]
B). |rush

C)- | hasten

D).  |quicken

Q.108. Directions: Fill in the blank.

He is known for his mind, and always comes up with clever
solutions.

A). |lazy

B). intelligent [Correct Answer]

0). confused

D). dull

Q.109. In written communication, what does the term "CC" typically stand for?

A). Creative Content

B). |Carbon Copy [Correct Answer]

0). Correct Context

D). |Complex Code

Q.110. Which gesture is commonly used to indicate confusion or uncertainty?

A). Scratching the head [Correct Answer]




B).  |Rubbing palms together

C).  |Clapping hands

D). |Thumbs up

Q.111. Which communication channel is considered the most formal?

A). Phone calls

B). Face-to-face meetings [Correct Answer]

Q). | Emails

D). |Instant messaging

Q.112. Where is the ‘wh' word typically placed in a question?

A). At the beginning [Correct Answer]

B). |In the middle

C). |Attheend

D). |Anywhere in the sentence

Q.113. Which punctuation mark is used to separate the introductory phrase
from the main clause of a sentence?

A).  Colon ()

B). |Semicolon ()

C).  |Period ()

D). Comma () [Correct Answer]

Q.114. Complete the given series:
@ TS Gl B R B

3F,6G,111,18L, "

A). [21R

B). |25N

0. [27Q




D). 27 P [Correct Answer]

Q.115. Find the odd one out in the given series:

& T siEe ¥ @ Aeve B G

3,5,7,9, 11,13

A). 5
B). 7

0). 9 [Correct Answer]
D). |13

Q.116. If in a certain code language, KOLKATA is coded as LPMLBUB, how
RANCHI will be coded in that code language?

Ife v AT HIs 9NT ¥, KOLKATA @ LPMLBUB & ®U #
PIfST fHaT SIar 8, a1 SH BIS YT F RANCHI BT DY DS
foar sreem?

A). SBODIJ [Correct Answer]
B). SCOEJI

C).  |QBPEHK

D). | Qceou

Q.117. If X is the brother of the son of Y's son, how is X related to Y?

AXX, YD TA D YA DI AR o X BT Y | 57 G4 27

A).  Son
REl
B). Brother
g
0. Father
O
D). |Grandson [Correct Answer]
qrdr

Q.118. If A is to the south of B, and C is to the east of B, then in which direction
is A with respect to C?

IRXABDIRUFARY, R C,BD Y@ H L, @ ¢ D Heyg Ha
fore feum & 87




A).  |North-east
STR-7d
B). |North-west
IR—UleH
C). |South-east
<feor—gd
D). South-west [Correct Answer]
gleroT—uf¥es

Q.119. Rhea introduces Raman as the son of the brother of her mother. How is
Raman related to Rhea?

gﬂér?m?ﬂ;miﬂqqﬁw 3 A P IS P 9c B -0TH PN

A).  Nephew
TSI

B). Brother
g

Q). Cousin [Correct Answer]

AR TS

D). | None of these

T4 W BIE TE

Q.120. What is the next number in the sequence: 12, 15, 17, 20, ...?

IHH ¥ IFTCHl & F41 & 12, 15, 17, 20, .7

A). 22 [Correct Answer]
B). 20
0. |24
D). 21

Q.121. In the given question, there is a certain relationship among three
options out of the given four options. Find the fourth option which is
not related.

R 40 31 e Tt g o v @By

A). | Sofa
RIkal

B). Stool
ol

A




0. Lamp [Correct Answer]
o
D). Chair
Eaill
Q.122. If'+' means'—', 'x' means "+ '- means '®' _and "+ means '+, then

g+ wraef -8 @i @R« N maf vy g
450 < 15+7-4<15="7

A). |15
B). 14 [Correct Answer]
0. |12
D). |10

Q.123. Which of the following group (In Answer Options) of English letters will
look the same in the mirror?

Rl & Q e et B B P &
B ey oSl STerct 1 @I 1 W (SR )

A). MAHUHAM [Correct Answer]

B). AOVZVOA

€). HITNTIH

D). | VHRTRVH

Q.124. Five girls took part in a race. Reena finished before Mohini but behind
Gauri. Ananya finished before Sanchi but behind Mohini. Who won the
race?

B T T AT

A).  |Reena
Skl

B). Ananya
31T
0. Mohini
Afe=

D). Gauri [Correct Answer]

BIL




Q.125. Six ladies P, Q R, S, T and U are sitting around a round table. Q is
between S and R. P is between T and R. U is to the right of S. Who is
between P and U?

Bg At P,Q, R, S, TIR U & Ma 39 & a”I IR 91 21 Q, S IR R &
eI PLTIRRSIEEIU,SPITE ARSI PIRUSD d= 3 =°

A). |T [Correct Answer]
B). R
0. |s
D). Q

Q.126. In the given question, there is a certain relationship. among three
options out of the given four options. Find the fourth option which is

not related.
|ﬁ§knﬂ%wﬁ$ﬁa‘r ga_%%rr ﬁﬂ?g ® e

A). Screw
VS|

B). Hammer [Correct Answer]

SIS

0). Needle
qs

D). Nail
Prel

Q.127. If 3x + 4 = 16, what is the value of x?

gfe 3x +4 =16 41X ST 99 91 27

A). |4 [Correct Answer]
B). 3
Q). 5
D). 6

Q.128. What is the total of the internal angles in a triangle?
TP Bryet # SfiaRe® PIoi T g AT e sir &7

A). |90 degrees




B).
Q).
D).

270 degrees

360 degrees

180 degrees [Correct Answer]

Q.129. What is the next prime number after 17?

A).
B).
Q).
D).

17 P 9IS el ST FE&IT P A 87

18

19 [Correct Answer]

20

21

Q.130. The binary system uses how many digits?

A).
B).
Q).
D).

I3 Rived a1 il BT STANT BT 87

2 [Correct Answer]

4

10

6

Q.131. What is the LCM of 8 and 12?

A).
B).
0.
D).

Q.132. If 40% of a number is 20, then 25% of that numberis_ .
If forelt H&T BT 40%, 20 B, T S HEAT BT 25%,

A).
B).
C).
D).

8 3k 12 &1 LCM <1 27

16

20

30

24 [Correct Answer]

gl

12.5 [Correct Answer]

25

125

80




Q.133. Imagine, you have a cube-shaped box, and each side of this box
measures 5 centimeters. What would be the total amount of space or
volume inside this box?

) g 3R
waﬁma%quﬁﬁwaﬁ%ﬁsw gls'ﬂama%
3R Fd S8 AT AGA fbaT s

A). 150 cubic cm
150 &9
B). 175 cubic cm
175 &9 I
0). 125 cubic cm  [Correct Answer]
125 T 1
D). 200 cubic cm
200 T HHI

Q.134. Ifa = 19 and b = 33, what is the value of a? + b??
Igxa=19 3k b=33 8, dr a2+ b? &1 99 @1 87

A). 1450 [Correct Answer]

B). 1276
€). 1170
D). 1336

Q.135. In a survey, 60% of people preferred tea over coffee. If 300 people were
surveyed, how many preferred tea?

TP 9 A 60% AN 7 BB P S8 I B ArRIfdear €| Ify 300 A BT
wderr far T, A feaq Nl 3 I gEE B

A). 180 [Correct Answer]

B). [120
€). 150
D). |200

Q.136. If a train travels at a speed of 60 kilometers per hour, how many
kiIometers will it travel in 3 hours?

ng:ﬂ freirier uf & Wl%r\ﬁaa'cﬁ ar
’a%, Goﬁﬁhﬂﬂara?rw ®

A). 150
B). 210



Q. 220

D). 180 [Correct Answer]

Q.137. You're measuring the perimeter of a square-shaped garden, and you
find it to be 40 meters.
How long would each side of this square_garden be (In meters)?

PR 3R_Irger Hex fAerr
R e ST, g1 1E 40 e

A). 120

B). 5

0). 10 [Correct Answer]

D). |15

Q.138. What is the term used to describe the transformation of water into
vapor?

E%Wﬁwﬁaﬁﬂzﬁravhmﬁa%%rqmwmm
ﬁ?qTGrmT%

A). Evaporation [Correct Answer]
qredTHRoT
B). | Sublimation
HAUTdh
). Melting
el
D).  |Condensation
o

Q.139. What is the standard unit used to measure electric current?

g arT & A9 & T 9w AN SHIE T 37°

A). |Ohm
3
B). |watt
qic
0. Volt
dlec
D). Ampere [Correct Answer]
TR




Q.140. Which of these options represents a sustainable energy source?

gﬁ@rﬁﬂwﬁmwwwmmuﬁﬁﬁam

A). Solar [Correct Answer]
IR
B). Coal
PIIAT
C). Natural Gas
Tpfad I
D). | Petroleum
Ueiferad

Q.141. You were testing a solution that is neither acidic nor basic.

What pH value would you expect to find?
ﬁg@&gﬂﬁﬁﬁﬂm@%ﬁrq?ﬁm%mﬂéml

P UM P SHIG
A). 10
B). 7 [Correct Answer]
Q). g
D). |14

Q.142. Which planet is known as the "Red Planet"?
e 7% @1 ‘A1 8 B AH | S ST 27

A). Earth
g

B).  |Jupiter

0). Venus
NED

D). Mars [Correct Answer]
HTA U8

Q.143. What does RAM stand for in computing?

YT § RAM BT R 37k 7?

A). Random Access Memory [Correct Answer]
YSH T HAR

B).  |Read-Only Memory
S 3ATell HERI

C). Remote Access Manager




RAe TR HoiR

D).  |Real-time Analysis Module
Raet erga iR Alsd

Q.144. What does 'C’ stand for in the banking/financial term KYC?

3t / o <5 darEdt § A &1 S R B

A).  |Checking
AfHT
B). Caution
RIECIGI
0). Careful
add
D). Customer [Correct Answer]
PIEED

Q.145. The Indian state of Goa was a former colony of which European
country?

ARART 19 Ml fhd R <7 BT g9 Sufasr or?

A). Netherlands
RIS
B). |Spain
Rkl
0. Portugal [Correct Answer]
T
D). France
RS

Q.146. Which river is known as the "Ganga of the South"?

PIT— T ST B AT D A A ST S B P

A).  |Yamuna
Rkl
B). Godavari
RIEIER
0). Kaveri [Correct Answer]
BT
D). | Narmada
a1

Q.147. The Indian National Congress was founded in which year?

AR TS5 B B 9T fhg af g8 ofi?



A). 11947

B). 1857

€). 1905

D). 1885 [Correct Answer]

Q.148. Who was the first Indian to win the Nobel Prize?

A QREPR S a1t U8t ARG Bi 97

A). C. V. Raman
SICIEGE]

B). | Amartya Sen
A AT

0). Rabindranath Tagore [Correct Answer]

AT SR

D). Mother Teresa
TG SNl

Q.149. Which element is the most abundant in the Earth's crust?

QA B YIS H DI AT A G, SfeH AT H YR A 89

A).  |Carbon
BT
B). Oxygen [Correct Answer]
SIEASISEI
C).  |Hydrogen
SN
D). |Silicon
faferet=

Q.150. Which lake in-India is known for its floating islands?

g@ﬁmﬁmmmma%mmm

A). Loktak Lake [Correct Answer]
dAldcd Ad
B). Sambhar Lake
NINEIS]
0). Chilika Lake
fremt st
D). Dal Lake
EREEIG







